Name:

Binomische Formeln 1
(x-3)2 = x2-6x+9
(h+1)2 = h2+2h+1
@+2)-(a-2) = a2- 4
(U-3)2 = u2-6u+9
(B-%)2= 9-6x+x2
(f-3)-(f+3) = -9
(4a-3)2 = 16a2-24a+9
(Bw-5)2 = 9w?- 30w + 25

(4 + 3s)? 16 + 24s + 9s2

(5r-5)- (5r+5) = 25r2- 25
(4r-3s) - (4r+3s) = 16r2- 9s2

(3c - 5k)2 = 9c - 30ck + 25k2

(4y - 4k)? 16y2 - 32yk + 16k2
2+8t+16 = (t+4)
U?+8u+16 = (u+4)2
n-4= (n-2)-(n+2)
e2+6e+9 = (e+3)?
9+6h+h% = (3+h)?

h2- 16 = (h-4)-(h+4)
16h2-40h + 25 = (4h-5)?
2502+ 409 + 16 = (5q + 4)?
16 - 16u + 4u2 = (4 - 2u)?
9d2- 16 = (3d +4) - (3d-4)
16k2- 16x2 = (4k - 4x) - (4K + 4X)
1602 - 160X + 4x2 = (4q - 2x)?

16W? - 24wm + 9m? = (4w - 3m)?
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Name:

Binomische Formeln 1
(x-3)2 =
(h+1)2 =
(@+2)-(a-2) =
(u-3)2 =
(3-x)2=
(f-3)- (f+3) =
(4a-3)2 =
(Bw-5)? =
(4 +3s)2 =
(5r-5)- (br+5) =
(4r-3s) - (4r +3s) =
(3c - 5k)2 =
(4y - 4k)2 =
t2+8t+16 =
u2+8u+16 =
n2- 4 =

e2+6e+9

9 + 6h + h?

h2- 16 =
16h2 - 40h + 25 =
2502 + 409 + 16 =
16 - 16U + 4u2? =
9d?2- 16 =

16k2 - 16x2 =
1602 - 160X + 4x2 =

16wW2 - 24wm + 9m2 =
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